Diagram of example 3: a ( b.

Key:  

a = Life is present from the moment of conception.

b = Abortion is wrong.
Notice that this, too, is the same argument as in examples 1 and 2, although in different words. (The same diagram variations are correct, like b ( a, and incorrect, like b ( a, as above.)

The words “for” and “since” are only synonyms for “because” when they serve as conjunctions (that is, when they connect two complete sentences or “independent clauses”—see examples 2 and 3 above), not as prepositions (that is, when they stand before an incomplete sentence.  Here are examples of “for” and “since” used as prepositions:

4.
Fetuses possess the genetic code for human beings.

5. 
Abortion has been legal since the Supreme court decision in Roe v. Wade.

Neither example 4 nor 5 is an argument, and neither can be diagrammed using an arrow.

